
Q1
One letter is to be chosen from the word ‘military’.  What is the probability that it will be: 
a)
the letter r
b)
the letter i
c)
a vowel
d)
a consonant



Q2
An unbiased six sided die is to be thrown and then a four colour spinner is to be spun. The die has sides numbered 1, 1, 2, 3, 4, 5 and the spinner has equal sections for red, yellow, but ½ of the spinner is blue.

a) Copy and complete the table to show the possible outcomes

	
	1
	1
	2
	3
	4
	5

	Red
	(R, 1)
	
	
	
	
	

	Yellow
	(Y, 1)
	
	
	
	(Y, 4)
	

	Blue
	(B, 1)
	
	
	
	
	

	Blue
	(B, 1)
	
	
	
	
	


b) What is the most likely outcome?


c) What is the probability of this outcome?

d) What is the probability of (R, even)?

e) What is the probability (any colour, 5)?

Q3
A four edged spinner has numbers 6, 7, 8 and 9.


A three edged spinner has numbers 3, 4 and 5 on it.

a) Complete a possibility space table, when both spinners are spun together   

and their scores multiplied.

b) What is the probability of achieving the maximum score?

c) What is the probability of achieving an odd score?

d) What is the probability of scoring a multiple of 3?

e) What is the probability of scoring a multiple of 10?

f) What is the probability of scoring a factor of 60?

Exam style question

Q4
In a game two fair dice are thrown and the score recorded is the larger of the two numbers obtained.  If the two numbers obtained are the same, the score recorded is one of them.

	6
	
	
	
	
	
	

	5
	
	
	
	
	
	

	4
	
	
	
	
	
	

	3
	3
	
	
	
	
	

	2
	2
	2
	3
	4
	5
	6

	1
	1
	2
	3
	4
	5
	6

	
	1
	2
	3
	4
	5
	6


a) Copy and Complete the table to show all the possible scores.

(2 marks)

b) What is the probability of obtaining
i)
a score of 5

ii)
a score less than 3.

(3 marks)


Q1
a)
P(letter r) = 1/8


b)
P(letter i) = 1/4

c) P(a vowel) = 3/8


d)
P(a consonant) = 5/8

(4 marks)

Q2
a)

	
	1
	1
	2
	3
	4
	5

	Red
	(R, 1)
	(R, 1)
	(R, 1)
	(R, 3)
	(R, 4)
	(R,5)

	Yellow
	(Y, 1)
	(Y, 1)
	(Y, 1)
	(Y, 3)
	(Y, 4)
	(Y, 5)

	Blue
	(B, 1)
	(B, 1)
	(B, 2)
	(B, 3)
	(B, 4)
	(B, 5)

	Blue
	(B, 1)
	(B,1)
	(B, 2)
	(B, 3)
	(B, 4)
	(B, 5)


b) (B,1)


c)
1/6

d) 1/12


e)
1/6






(5 marks)

Q3
a)

	x
	6
	7
	8
	9

	3
	18
	21
	24
	27

	4
	24
	28
	32
	36

	5
	30
	35
	40
	45


b) 1/12


c)
1/3

e) 2/3


e)
1/6

f) 1/12










(6 marks)

Exam style questions

Q4
a)

	6
	6
	6
	6
	6
	6
	6

	5
	5
	5
	5
	5
	5
	6

	4
	4
	4
	4
	4
	5
	6

	3
	3
	3
	3
	4
	5
	6

	2
	2
	2
	3
	4
	5
	6

	1
	1
	2
	3
	4
	5
	6

	
	1
	2
	3
	4
	5
	6



b)
i)
9/36 = ¼

ii) 4/36 = 1/9








(5 marks)
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